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PAPER I

(GENERAL)

1. Identify the non-probability sampling
technique from the following:
(A) Simple Random Sampling
(B) Systematic Sampling
(C) Stratified Sampling
(D) Purposive Sampling

2. The items in a questionnaire should be
presented in the following order:
(A) General to specific
(B) Easy to very difficult
(C) Known to unknown
(D) Simple to complex

3. ‘Survey Monkey — an Online Reference
tool’ facilitates:
(A) Text Analysis
(B) Survey Templates
(C) SPSS Integration
(D) Real-time Results

4. Ethics in research is not concerned with:
(A) Claiming others’ ideas as one’s own
(B) Political ideology of the researcher
(C) Invasion of participant’s privacy
(D) Self-plagiarism

1. Tlere Rees e S-TsRys] T« e
fofze F@ |
(A) Triet e Sp=siferg
(B) PIeoEE sr=niferk
(C) Fibwe =il
(D) AR reeiferk

2. 936 2w fAanefs Fsffie @ @m
297 Tfbw ©f Z&
(A) =T 2 e
(B) =G (AF Y I
(C) el (A St
(D) AR (ATF Sive

3. SIS WA — Sy SEER (@RIE Gl
fSwa @ gl el Face 7R 2
(A) (I enITE™
(B) TS (GC2BA
(C) @ o @37 @31 SFBra=
(D) TAE=-5Es e o

4. fagferfae @@ faaf sty tfeserz e
AT 72
(A) SR PRSI e e wifk 21
(B) 9IS ﬂl@?ﬂlﬁ‘)@ RISVl

(C) SIRTNMT SRHYZIFITIma Ifesre
(SNATITOT e

D) W—ﬂ?@ BRI
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5. Match List-I containing the type of research
problem with the List-1I containing the method of
research.

List-1 List-11
(Research Problem) (Research Method)
(a) Peer-interaction in a (1) Cross-sectional
racially mixed classroom  surveyresearch

of an urban high school

(b) Developmental pattern  (ii) Expost-facto
of intelligence among
middle school students

(c) Effect of watching
television on science
achievement of nineth
grade students

research

(iii) Ethnographic
research

(d) Impact of education
on social status of
marginalized groups

(iv) Experimental
research

Choose the most appropriate answer from
the following options:

Codes:

@ (b (@ @
(A) (@v) @) (1) (i)
B) @) @@ Gv) (i)
© @Gy @ @ >Gv)
D) @ Gv) @G (i)

6. Which of the following in combination
characterise qualitative research?

I. Research tool dependence

II. Researcher dependence
III. Context-free generalization
IV. Context-specific generalization
V. Minimal citation of literature

Choose the most appropriate answer from
the options given below:

(A) L1, 1V

(B) I, IV, V

(©) oL, 1v, v

(D) I, II, III

5. N> med OfFer~9 SiEEE e A
SRR SCaTd 2 RRCZ | OFfe7m-lI-4 SRR
Aa o T T IR | OfFH-1-93 A Ol
& AT &I |

oIl ©Iferm-11
(SICRReIR ST CISERIE RIS

(a) 96 =23 2B FEE (i) TA-GTFI=IeT
Tt qeefa Remidion ste S St
T 2A-SCTIo

(b) TGHF FEH DERAME (i) GHARG-HIES
& s Kl el QISEC)]

(¢) T I BRI € (iii) QIR
i giog Raa SICel
Gferfea (e aek

(d) 2AfEF oD e (iv) GFCARITOI
TR eAq iR 2o sigelt

B (el 77a (AT AT Ted ofers e
ch? :
(@ (b (© (@
(A) Gv) (@) (@G (i)
B) @) (@) @dv) (D)
(© @Gy @) @G Gv)
(D) @ Gv) () (i)

6. WHe (@Ml AR e SEINE
bizre w2
1. f2115 5o ftsice™
II. s feremee™
I11. @NCU@-&T (SIS HIEIS WD
IV. FGH-CHPS (SmEeiz=
V. Rfestiet MG o i
e emal (2 A Teg @@ <
(A) L 1IIL, IV
(B) 1L 1V, V
(C) 1L 1V, V
(D) L IL III




7. Obstacles which distort the meaning of a
message in a communication are termed as:
(A) Semantic Barriers
(B) Deficient Barriers
(C) Language Barriers
(D) Structural Barriers

8. Inagroup, thelogical sequence of effective
communication follows the following steps:
(A) Forming—Performing—Norming
—Storming—>Adjourning
(B) Forming—Norming—Storming—
Performing—Adjourning
(C) Forming—Storming—Norming—>
Performing—Adjourning
(D) Forming—Norming—>Storming—>
Adjourning—Performing

9. Protection of an original music composition
and recording is in the domain of:

(A) Trademark
(B) Copyright
(C) Brand
(D) Logo

10. In a society where people learn from
members of other cultures and grow together is
having an environment.

(A) Inter-cultural
(B) Cross-cultural
(C) Multicultural
(D) Hybrid cultural

00-1

7. IPREIER g Fes A6 96 @[
Afeams [Fo I, OIwe Ie7 27
(A) *ars Afoqsms
(B) w19 aifeams
(C) oI aAfeaws
(D) IS 2feqas

8. IS TN S (2 (G T A o
(Group) fT5feTire @ gfemtin Gieiea s=wre! (7,
©f 267 :

(A) TR — sl — T et — amiam
— oI/ Z oI

(B) MRs1oe — fom fefg — amigam —
vl — TR/ B

(C) RN — MW — 7w Fefar —
vl — TR/ B

(D) MR — o fefy - awEm —
TP/ ZreItE — amefa

9. & e B ¢ wite 77 M A7 T
TafERe A AfE T S #I0T, ©f 7 ¢
(A) GoF
(B) f#aizs
©) e
(D) Gl

10. iicers ffon scglon S O Soiwe T
(TF P I @92 0 (@08 9o (@ AR AR
I, (12 AR 71 27 9 AT |

(A) TOR-FETHRE
(B) T-JIeT5HIE
(C) SFCFEBIRIE
(D) 2RRCT TR
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11. Match the tag lines stated in Lisz-I with the

different newspapers published in India in List-11.
List-1 List-11

(a) Journalism of Courage (i) The Statesman

(b) India’s National (ii) Indian Express

Newspaper
Since 1878
(c) Let the Truth Prevail  (iii) The Hindu
(d) People’s Parliament (iv) The Times of
Always in Session India

Code:

(@ (b (© @
A) @) Gv)y @ ()
B) G Gy Gv) @
€ @G aGv) @ o (iD)
D) Gv) @@ G (i)

12. There are two statements given below:
SWAY AM—Indian Governments’ MOOC

platform primarily aims:

(I) Totakethebestteaching-learning resources
to all the learners including the most
disadvantaged group.

(II) Notto accomplish three cardinal principles
of education—access, equity and quality.
Choose the right answer :

(A) (I) and (II) are correct.

(B) (D) is correct and (II) is incorrect.
(C) (D is incorrect and (II) is correct.
(D) Both (I) and (IT) are incorrect.

X-6

11. OfFF--a JEE TS Gheletied (@edl
SRR | OfTF-I-4 IS AN FST TR |

OIfFF--47 3 ©lferep-Il AT O (e |
Oifer-1 OIferer-Il
(a) A3 AIIfrEe! (i) W GOGE0I
(b) 1878 (T SIACSA SrolT (i) 3w @iz
FRAMAG
ORSASGRICRIES (iii) w f&q
(d) AN AT RIS (iv) 7 GIZs] =1
ST B
ch? :

(@ b (© @
A) @) Gv)y @ (>
B) @G Gy Gv) @
©) @G Gv) @@  (iD)
D) Gv) @@ G (i)

12. it 9o Rgfe ez 21
FIN— ©Ige FAIHEE ‘MOOC Platform’
-q3 HI2fiF o7 24 ¢
(1) C70*131 eTon ARHIARES RGradmE FFET
Iz GeFoos Rl @ it Ttz (rew |
(1) w1 oG 572y Sty Tl —mis e, 33536
G (RO T w1 T2 |
5 Tt 4o a2
(A) (1) @3e (11) Te73 5 |
(B) (1) fo=e T (II) e |
(C) () = f&e (1) o= |
(D) (I) @R (1) TSI G |




13. Match List-I containing e-learning platforms
with List-1I containing e-learning resources.
List-1 List-11
(e-Learning platform) (e-Learning resource)
(a) DIKSHA (i) Online courses
through MOOCs
(b) SWAYAM (ii) Broadcasting
educational
curriculum
driven contents
(c) SWAYAM Prava (iii) Graded learning
materials
(d) e-Pathshala (iv) Vidya Daan

Choose the most appropriate answer from the
following options:

(@ ® © @
@A) @O @) aGv) (D)
B) G @O (Gv) (3{i)
©) @) @ (>v) (i)
D) Gv) @@ G (i)

14. Which of the following maximizes the
learning environment in educational institutions?
(A) Engaging pedagogy
(B) Formative evaluation
(C) Career counselling
(D) Sound ethical grounding

X-7 00-1

13. e OfFm-l-« 3= anbes-aa SeEe
AR G2 Offerl-l-9 3-elfee Reneh-ag SeEe
ARZ | BTN Ofea--9a A O)ferh-1- W
ool

©lferm-I olferm-l
(e-Learning platform) (e-Learning resource)
(a) DIKSHA (1) MOOC-¢3
M STeTZe
o7
(b) SWAYAM (ii) FTER fSa #ow
AR e
(c) SWAYAM Prava (iii) carTTafaR
IRERRN
(d) e-Pathshala (iv) e

o Tex Fos Fee -

(@ (b)) (© (@
A @O Gy aGv) (1)
B) G @ (Gv) (iD)
© @) @O (>Gv) (i)
D) Gv) @@ G (i)

14. 7 @G rera FEwse s
41z Texe 9o 2

(A) @eaifer corelafe
(B) T(0® Zeyieqe™ia
(C) FifTaE FC@EIER
(D) TS dfFie asfe]

[ Please Turn Over ]



00-1

15. List-1 contains adolescent learner
characteristics and List-II contains their respective
dimensions. Match Lisz-I with List-11.

List-1 List-11
(Adolescent learner (Dimension)
characteristic)
(a) Moving from concrete (1) Social

to abstract thinking

(b) In the process of
establishing sense of
personal identity

(i1) Cognitive

(c) Demonstrate resilience
and coping skills

(iii) Academic

(d) Focus on personal
decision making

(iv) Emotional

Choose the most appropriate answer from the
options given below:

(@ G (© @
A) Gv) G @) (i)
B) @) @O (>Gv) (i)
© @G aGv) @ (iD)
D) ) @ aGv) (i)

16. Following table provides figures (in Rupees)
on annual expenditure of a firm for two years-2010
and 2011. In 2011, which of the following two
categories have registered by same percentage
increase?

Category 2010 2011
Raw material 5200 6240
Power & Fuel 7000 9450
Salary & Wages 9000 | 12600
Plant & Machinery 20000 | 25000
Advertising 15000 | 19500
Research & Development 22000 | 26400

(A) Raw material and Salary & Wages
(B) Salary & Wages and Advertising
(C) Power & Fuel and Advertising

(D) Raw material and Research &
Development

X-8

15. ©fFF--93 A ©fem-11-93 ANGTR[RY

P ¢
©Ifere-
(e Prmdia
[SITE3))
(a) IO (AT 7S SRR

RIS

(b) IfeTa ey 2fews
FCFH @0 2l

(c) 2fSF 3z @I
T TS| 2R

(d) IfEare Prare gz
(FCq SFqule

o & o <
o Tl Wdive T

(@) (b)
A) @Gv) (i)

B) @Gi) @  ((v)

©) @) (@v)

D) @ @@ aGv)

©Ifere-Il
(FTeARa FRidia
B[]
(i) GAIIeT

(i) TS
(iii) STIFICSRF

(iv) ZCIITe

(d)
(iii)
(ii)
(iii)
(iii)

16. @ wIGE 4o q= 2010 @3 2011 AER

IR 7 Nk e S o S 4
2e1 1201 1 3116, Fferiie @l fere a2 sioiest

Ifm ooz 2

FHioafa 2010 | 2011
Raw material 5200 6240
Power & Fuel 7000 9450
Salary & Wages 9000 | 12600
Plant & Machinery 20000 | 25000
Advertising 15000 | 19500
Research & Development 22000 | 26400

(A) Raw material and Salary & Wages
(B) Salary & Wages and Advertising
(C) Power & Fuel and Advertising

(D) Raw material and Research &

Development



17. The ratio of male to female students in a
college for five years is plotted in the following
line graph. If the number of female students doubled
in 2009, by what percentage did the number of
male students increase in 2009?

35
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0

2008 2009 2010 2011 2012
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(C) 140
(D) 120
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17. 93 SRR 116 I2=F & 7373 € el
oS et Faftee @it bfas satzame |
2009 e wfZeT i kA faed 2, 2009
AN 77 R MR TS ok I (@ ?
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18. Given below are two statements: One is
labelled as Assertion (A) and the other is labelled as
Reason(R).

Assertion (A) : Data acquisition is the process of
sampling signals that measure
real-world physical conditions
and converting the resulting
samples into digital numeric
values that can be manipulated
by a computer.

Reason (R) : Data acquisition is the process of
digitizing data from the world
around us so it can be displayed,
analyzed and stored inacomputer.

In the light of the above statements, choose the
most appropriate answer from the following
options:

(A) Only (A)iscorrectbut(R)is not proper
explanation of (A).

(B) Both (A) and (R) are not correct.

(C) Both (A) and (R) are correct and (R) is
the correct explanation of (A).

(D) Only (A) is wrong and (R) is proper
explanation of (A).

19. If p:g=1:2, q:;r=4:3, ris=4:5 and u is
50% more than s, what is the ratio of p:u?
(A) 2:15
(B) 16:15
) 1:5
(D) 16:45

18. ¥ Rgfe oreal 2@z : 93l Hiew 2@
&) (Assertion) RO, €38 ©1# % & (Reason)
e |

TG (A) ¢ (CBl SHIFRfemi zel PismcEa
TR efe, [ AT oS
(ST %17 AT 57, 93 Ty
T e fEfEte Ay weirefe
3@, 9 93 FHTHIET =7
ARBIfeTe 200 A |

IE (R) : (CH] SMFfCme 75 S
BT e (ACF (©O1 22T T
feferte w19 afE qice G (ool
AT e, e aag
FRAMFe 41 T |

ToAT eooeToef wtEl, fawfafie

emaler W 7s Tex @9 |

(A) BTG (A) AF € (R), (A)-93 AfGE
BIENERE

(B) (A) 9% (R) (FII512 AT Teq =7 |

(C) (A) 9% (R) %62 A3 @R (R), (A)-€F
A5 A |

(D) S4IE (A)Z 1 4<% (R), (A)-4= 55
BRI

19. W pig = 1:2, gir = 4:3, ris = 4:5 @R u T&
5-93 50% @, O piu-T AN TS ?
(A) 2:15
B) 16:15
(C) 1:5
(D) 16:45
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20. Match items of List-I with the items of
List-1I and indicate your answer by selecting the
correct code:

List-1
(Data)
(a) Qualitative data

List-11
(Description of Data)

(i) Countable or
measurable

(b) Quantitative data

(c) Discrete data

(i1) Description based

(iii) Measured in interval
scale

(d) Continuous data  (iv) Numerical and

countable

Code:
@ ®) (© (@
A @ ) (i) (@1v)
B) ) @ 3> @Gv)
© Gy (@ @Gv) (i)
(D) (i) @G 3G (@v)

21. Find the missing character from the given
response:

(39 (%) @

(A) 26
(B) 126
©) 12
(D) 125

22. In a certain code, MENTION is written as
LNETTNO. How is PATTERN written?

(A) APPTREM
(B) PTAETNR
(C) OTAETNR
(D) OTAETRN

20. GfFF-1-93 FA ©Offerp-1-a37 AR
e @R et frmafor (e 71 Tea forge |

Ol ©Iferm-11
(@) (ceoF =9
(a) FRBGDS @61 (1) se=icien Sl
STiefcalon
(b) FIETEGTS @6l (i) Rl fofew
(c) TSATEFG (@bl (iii) CTO! SyiE-F
ESRESIG R GRIKIE
(d) FFCETTTH (B61 (iv) IR T A A

PIT :

(@ (b (© (@
@A) @ G G Gv)
B) G @O > Gv)
© Gy @ (Gv) (i1
D) G @ G Gv)

21. Twa Rl (2 [ @b o 3=

(3 (90) (2)
(A) 26
(B) 126

() 12
(D) 125

22. @I @36 @te MENTION (&4l 20
«3el(d LNETTNO, 9251 PATTERN (F12] (&
AE @ (IS O 2 :

(A) APPTREM
(B) PTAETNR
(C) OTAETNR
(D) OTAETRN
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23. Find the missing number that will replace
the question mark in the following figure:

3
4 7| 4
4
(A) 4
(B) 8
©) 7
(D) 5

24. Find the missing character from the diagram
and choose the correct answer from the given

alternatives:
(A) 4
(B) 305
(C) 343
(D) 729

25. Find out the group of letters which is
different from the others.

(A) UAVBWC
(B) CHIDJE

(C) XLYMZN
(D) PEQFRG

26. A man has a certain number of small boxes
to pack into parcels. If he packs 3,4, S or 6 in a
parcel, he is left over with one; if he packs 7 in a
parcel, none is left over. What are the number of
boxes, he may have to pack?

(A) 106
(B) 309
(C) 400
(D) 301

X-12

23. 53 @2io0a 2ei@ias Bl @ A2 =it
AfozIi7re 2o 7 ?

A) 4
(B) 8
<7
D) 5

24, ek e (@@ @2IbeEaa e w14

i

(A) 4

(B) 305
(C) 343
(D) 729

25. ST =wenEs e @b S (A
el 2
(A) UAVBWC
(B) CHIDJE
(C) XLYMZN
(D) PEQFRG

26. 95 IfEa I AR T T Fodei
(RIG! 3 feet | 7 Tt 2ifSfo At 3, 4, 5 weat 6%
A AR, OIFE Aforweg o Ficz 16 39 A A
s AT T &1 716 02 I A0, O @I A
fF A T | SIZE GR G Pl AT I
o) S0 A ARFCS AT 2

(A) 106
(B) 309
(C) 400
(D) 301




27. In a group of persons travelling in a bus,
6 persons can speak Tamil, 15 can speak Hindi and
6 can speak Gujrati. In that group, none can speak
any other language. If 2 persons in the group can
speak two languages and one person can speak all
the three languages, then how many persons are
there in the group?

(A) 21
(B) 22
(©) 23
(D) 24

28. How many squares and rectangles are
present in the figure?

(A) 8
(B) 9
(©) 10
(D) 12

29. Two statements (I and II) and two
conclusions (1 and 2) are given below:

Statements : 1. Some Bricks are Cement.
II. All Cement are Sand.
: (1) No Bricks are Sand.
(2) Bricks are Cement and Sand.
Choose the correct alternative:
(A) Only (1) is true.
(B) Only (2) is true.
(C) Both (1) and (2) are true.
(D) None of the conclusion is true.

Conclusions

X-13 00-1

27. @ TR AW foor@ 6 T Sifie SR
T IO AICF, 15 & BV i 2 T6700 A =
6 Tl BTG SR F2 IS A1 | A0 T (S
) S (I ST N FFCS AN 1 | AW Qe ey
2 & 4o ORI 2 F@0e A O 1 G foais
SITes L IECS A, OE AGT FOG Thar
iR ?

(A) 21
(B) 22
(C) 23
(D) 24

28. Ttz @uifoca w9 voge Witz ?

(A) 8
B) 9
(©) 10
(D) 12
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30. What is the next term in the following
series?

2,15, 41, 80, ?
(A) 120
(B) 121
(C) 132
(D) 111

31. NEP 2020 recommends the following
functioning for the General Education Council:

(A) Academic Standard Setting
(B) Standardize Rules and Regulation
(C) Assessment and Accreditation

(D) Budgeting and Funding

32. Which of the following are ‘Values’
recommended by NEP 2020 that help to develop
good human beings?

(1) Sacrifice

(i1) Resilience

(iii) Spirit of service

(iv) Inclusiveness

(v) Creative imagination

(vi) Scientific temper

Choose the correct answer from the options
given below:

(A) @, (i), (vi)
(B) (i), (iii), (v)
(C) (i), (iv), (vi)
D) @, (i), (iv)

33. Which one of the following is the first
University in pre-independent India which
provided holistic and multidisciplinary learning?

(A) Takshashila University
(B) University of Mumbai
(C) University of Calcutta
(D) Nalanda University
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34. NAAC assessment and accreditation of
general higher education institutions refers to:

(A) Quality control

(B) Quality assurance
(C) Quality inspection
(D) Quality management

35. Which of the following is the best method
for inculcation of democratic values among adult
learners?

(A) Meditation

(B) Open Dialogue Forum
(C) Display of thought
(D) Self-discipline

36. Match the acronyms given in List-I with the
definition/explanation givenin List-Il and indicate
your answer by selecting the correct code.

List-1 List-11
(a) NDL (i) To increase the gross
enrollment ratio and
improve the quality of

higher education
(b) VIDWAN (i) Adigitalrepository for
all kinds of learning

material

(c) RUSA (iii)) To promote use of
technology in
education and enhance
employability  of
students

(d) NEAT (iv) Database profiles of

scientists, researchers,
faculty members in
teaching and research

Code:

@ G @© @
A ) @Gy G (@{1v)
B) (@v) @) @) @)
©) (i) @ 3Gv) (D)
D) () @Gv) @) (i)

34. NAAC-93 34z Soofamw afS9icTa Jemee
8 Aol/FIPS TETCS (@RI
(A) @i foarge
(B) @o e fepzrel
(C) et oifawsfa
(D) eI AT

35. Imm o s aerelfEs el ool
frce fmfaiie Remafles S Wb A
(A) GIGCH*
(B) €75 GRS (I
(C) T&orczt o <G
(D) Gre-TShifza

36. ©fr--a g sifFema i e a e
W (1S ZER | Olferep-11-4 &G i *icara 3efal
ke (redl TR | @3 9 el Mgeei

G @3R3 (A AfSF NeAfb ot e |
OIfere- OiferI-I
(a) NDL (1) SwHEm @ A

wifegles Srsiites
BERRICIFEEN

THREFF T G

(i) 7 M= TR
IMEREARISIE]

(iil) MFFICFE )& TR
T 7 93R BamE
T TWEITerd @tey T2

(iv) Bl 8 eiERe @
i, siqes @ Wi
AR SIE AR
GIqeelfed ool

(b) VIDWAN

(c) RUSA

(d) NEAT

(@ (b (© (@
@A) ®» Gy 3o Gv)
B) Gv) @) () ()
©) @) @ (Gv) (i)
D) ) Gv) @ (i)
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37. Application of ICT inresearch ensures wider
coverage and accessibiliy of required information

through:
(A) WAN
(B) LAN
(C) Internet
(D) Skype

38. A private network that enterprises use to
provide trusted third parties — such as suppliers,
vendors, customers and other business—secure,
controlled access to business information or
operations is usually called as:

(A) Extranet
(B) Internet
(C) Intranet
(D) Personal Area Network (PAN)

39. The term ‘Internet of Things’ was coined

by Kevin Ashton at a presentation to Proctor and
Gamble in:

(A) 1996
(B) 1998
(C) 1999
(D) 2019

40. A state of being constantly connected to
technology whether it is through computer,
smartphone, or other digital device is termed as:

(A) Digital Culture
(B) Digi-self

(C) Digi-savvy
(D) Digital-slavery
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(A) 1996
(B) 1998
(C) 1999
(D) 2019
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41. ‘Anthropogenic contamination’ is a form
of pollution produced directly by:

(A) Human activities
(B) Vehicular traffic congestion
(C) Low temperature

(D) Dust pollution

42. Water Pollution:

(i) Encourages the growth of invasive plants
due tolow levels of nitrogen and phosphate
into water-ways

(i) Affects the mycoflora and microflora of
soil

(iii) Helps plants to grow and does not allow
plants to absorb dangerous chemicals from
water

(iv) Affectstherate of photosynthesis of acquatic
plant

Choose the correct option from the
following:

(A) (i) and (ii)

(B) (iii) and (iv)

(C) (i) and (iv)

(D) (i) and (iii)

43. Identify the non-fossil fuel from the
following:

(A) Coal

(B) Uranium
(C) Natural Gas
(D) Crude Oil

44. ‘Silent Spring’ was authored by:
(A) Medha Patkar
(B) Amitav Ghosh
(C) Ernt Haeckel
(D) Rachel Carson

41. SIFCIACE N FoBI (& 7 Ao
o] O 27 :

(A) ST e
(B) TSI € Fwen
(C) /9 wo7sial

(D) 4fe1 7=l

42, e 779 -
(i) GETole ARGEIG G TG A
e SN Sfgms Jiacs SeifRe e
(i) YT MR € NFFAE Foif<e
B

(iii) SNRATIE (@0T IS AR (e AR N2(F
T (A0S [oiegea Pl (Ie Fh00 @7

Bl
(iv) ToTe SiEmd AETRRERER A doifie
BI&S

o Taaft f<ive T :
(A) (1) 9<R (i1)

(B) (iii) @R (iv)

(C) (ii) @38 (iv)

(D) () E9R (ii1)

43, afTReslkm ey @0 TH-FhE FEEr
@ fofze T :

(A) Tl
(B) Tl
(C) aAFhess a7

(D) Srxiifes coa

44. ‘Silent Spring’ 2(g3 6Ol TEW :
(A) Gl A=
(B) wIfere @
(C) ST (=
(D) Ao FIA
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45. Improved human well-being, social equity,
reduced environmental risks and ecological
scarcities are associated with the concept of :

(A) Social Sustainability
(B) Green Economy
(C) Silent Spring

(D) Montreal Protocal

Read the paragraph below and answer the
questions from 46 to 50.

In firms that employ editors, the editor is the link
between the author and his publisher and, an author
and his editor cannot butinteract very closely. Quite
apart from choosing and editing typescripts, by the
time a work is published its editor will have probably
read itrigorously and critically four or five times; he
will have sat with the author on many occasions and
gone over and discussed every detail of it with him;
or, if author and editor are located in different cities,
the editor will have written several letters to the
author full of very specific suggestions, queries,
solutions to various problems, and comments
regarding design, typography, marketing, etc. If the
publisher himself is not his own editor, it will be
evident that much in the relationship between an
author and his publishing house devolves on the
skills, tact, creativity and intelligence of the editor.

In the process of toiling together on a book a
unique relationship is created between author and
editor and, if this works well, it frequently results in
very closed friendships. Publishing files and gossip
are full of correspondence and stories that bear
testimony to this. Many authors have aknowledged
the seminal role of editors in helping their talents
flower, of the tact yet firmness with which editors
have saved authors from being carried away by
verbiage or pomposity. John Murray, the head of a
well-known family publishing house, once regaled
me with stories of how one of his ancestors had
decorously kept a celebrated Victorian author, who
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tended to write needlessly long novels, on leash.
‘Sir’, said the concerned Murray to the author,
‘your MS is like a diamond—it will glitter, but only
when properly cut.” With this mixture of tact and
sharpness he was given carte blanche by the author
to chop the text, and ended up helping him publish
amasterpiece that still remains in print. Apparently
the author’s letter of thanks to his editor and publisher
is still preserved in the Murray files.

The editor’s involvement with a title and its
author does not necessarily end once it is accepted
and then prepared for press; he usually coordinates
the production and design of the work, reads
proofs, suggests jacket designs and, when the
book is ready, often sees it through the initial
stages of the marketing process, including drawing
up review lists, briefing sales reps, etc. During the
several months of the gestation of a book, editor
and author will have been in regular touch and,
when the book appears, the author will usually
continue to contact his editor for news about sales
and reviews; he will sometimes bore the editor
with suggestions about marketing, bare his heart to
the editor when a bad review appears, share his
relief when there is a good one; and, should he feel
that the book is not visible in bookshops, direct his
wrath at the editor rather than the marketing staff
of the publishing house. The editor thus is not only
the author’s collaborator in the making of a book,
but also his partner in celebration and his punching
bag when things don’t go well.

46. As stated in the given paragraph above, the
editor:

(A) Corrects the types and shapes the
marketing strategy only

(B) Reads through the manuscripts
thoroughly many times

(C) Rarely reads the manuscript

(D) Seldom interacts with authors

A | B (T i SoAfFS Ifad (AT @1 SitE
B (AT LS TG € AfREE SR
et @92 @Bt (<7 21F% 6 Er e Zea
AFIHS Z0e AR F76 @R 92e @b Jfwe 77 |
THFOZ AR T FIRE T9AMF @ AFHHE (@121
@A AT Bivel wafve = |

O3 3B @ T FTEFT A TV oo
2 — @b 2 @ JA(eIR Ty 2fgfod 0 (19 T
I 1 | AT AT SeAe € Freioe eize-
GF Y T FCE, FF ARG I, SO
ez fE oA @, 93 T4 336 24Fe =3,
4o AAfEF wea MR e e o —
I AT O oiferm age 41, ag-afeffima
3 A RO @RI 29l | @ 97 T2
2Efe A A, G FEFAN T2AME 8 FRF
fafie celice e a3k 73w 2% 2l =3,
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46. Sl SRIERV ST TS
(A) (T3 BiZo-TRTFI® A @ R
@ 733 I
(B) igfeifs a2are =&l oI0e
(C) mifbe “effst ot
(D) b (AT ACK @SN FCE

[ Please Turn Over ]



00-1

47. The friendship or otherwise between the
editor and the author is established in:

(A) The text published
(B) The printing files
(C) The publisher’s file

(D) Thepublishing files and stories which
make sounds

48. Whatdid John Murray narrate in this piece?

(A) Narrated a story of an editor helping
an author

(B) Wrote a story about himself
(C) Narrated how he promoted himself

(D) Narrated how the Victorian author
failed to publish

49. Therelationship between the author and the
editor:

(A) Ends with the final copy for the press

(B) Continues beyond publication of
books

(C) Ends with the final payment

(D) Begins with a new team

50. What does an author usually do when his/
her book does not do well in business?

(A) Withdraws from the publishing house
(B) Rewrite the book

(C) Directs his anger to the editor

(D) Looks for new publishing house
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